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Linear Equations

» A linear equation is an equation
whose graph is a line. £ ik cwibe o
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Linear Regression with Multivariables ssis e €Y adll ad gl

mf) — value of feature j in the i"" training example

stl) dgandl o) S St 1 g (g )8 ) ) el ) 08 B8 L)) o
(N e e sl



Linear Regression with Multivariables jsie ja J8Y il a5l

' hH('B) :ﬁ) +?_1$] j"02$2 ki +ﬂa$n

For convenience of notation, define Eo = L

A

= |

l

Multivariate linear regression. &—




Linear Regression with Multivariables e e J€Y hall o gl

f gl fdaiiad o
355538 L sl SSY1 o a8l oY
N (a 1S 2l g3 gac)
4 pal g g anl gl a5 Jac
A hadl) )5S e | A

,ml:j.»‘lcss;b\jd_aéj\j\

b igia 5 A L jaulll
aalgady gy g pialy dalgdgae




Linear Regression with Multivariables s e J€Y il o 5l

Cost Function:

o, aalg dale e ol il 80 J D 8 gl dpall a3y
by Sl lgd sy H Bl (81 dlaladll

Jualis Jaely AN G e 4000 SUAN S iata, 4 o) o8I JlB | Ll Jeclld 0
AVl A Al Tl L



Linear Regression with Multivariables jsis g &Y hall £l

wall ol o

repeat until convergence: {

1 ¢ . : :
- i)y _ i)y . ol
l o , . :

8, =0 —a—Y (ha(z™) = y. 2
1= “m;( o(z") —y") -z,

1l o . . .
0y =0, - i Z(hg(z(')) —y). g
=3




Linear Regression with Multivariables jsis e JSY Jaall ad il

i..u_;.dl 4.:...43\ ©

repeat until convergence: {

IS i i i
Oj::Oj—a;Z(hg(r”)—y“)-zg) for j:=0..0
=



Linear Regression with Multivariables s ge €Y Jadll a3l

Sl ] s
X X X Y
1 | 2 3 (m)s .J)’..;..J\.‘..:c. °
sl b il ghud) o) bl S e Claghadll @
| | | (features n) 3
5 20 6 12
5 35 6 14,
6 38 8 16
7 40 8 15
7 46 10 20
4




Linear Regression with Multivariables s e J8Y Jadll ad gl

% XY
sl o) | clihua | s 1 19
| 5
5 0 6 f
: " 20 35, 38
5 35 6 120 6 6 8
6 38 g 123
7 40 g 121
7 4 0 135 11
77
40 46




Linear Regression with Multivariables jsis e ySY Jasll 1l

X | X% | X | Y
sl pdkll Sllghuyl 1 1 1
5 5 6
5 20 6 19
: 20 35 3  neta
5 35 6 120 6 6 8 s
6 38 g 123 Thetat
- Theta2
7 40 g 121 Thetas
7 46 0 135 L.
7 7
40 46

8 10



Linear Regression with Multivariables e je Y Jasll o ¢l

[ gy

all sl Cllghdyl | addl 1 1 1
5 5
3 20 6 114 0 3% 38 Theta
5 35 3 120 6 6 8 Thetad §
6 38 8 123 Thetaf’ 2
| \ Theta2 3
r| ® 8 121 Thetad 6
7 4% 10 135 L.
7T 17
40 46



Linear Regression with Multivariables jsis (a 5€Y il ad gl

v ¢ ~-‘| . 1 i ,’
J0 0ol B
s CJ : . (\'-1 ~,-”.'-‘M '\'I
/}&J -'AA 4‘-&‘:' v\-—i, } _u "

;):‘3'(_@'5"3;}|};}ﬁ&)




= B-11- s e I e Jia Multivariable Examble (L

LINGAI REQIESSIQ <ot oo |G ada Ga SN ad| ad g

h(x) = (Theta)" X 1
(Theta)'= §7=(5236) X,z O
20
6

2
3
6




Linear Regression with Multivariables ssis e &Y aall ad gl

h(x) = (Theta)" X

(Theta)’'= 57=(5236) X, =
9 20

8




Linear Regression with Multivariables jsis ja 5SY Jadll a3 gl

h(x) = (Theta)" X

(Theta)' = 57=(5236) X, = O
? 20
’
6

b= (5236) o = STHZEHINLEC=11
6

hx), =111 h(x),=119 h(x),=127 h(x),=122 h(x), = 140

18




Linear Regression with Multivariables jsie g €Y il a8 gl

repeat until convergence: {

i by-a Y (he(e%) - ) .
mi 1
0.:;"0, anltﬁ(h'(rm) y) .20

I o g s o
0y := b, a;'.z:(ho(t(')) y). 2




Linear Regression with Multivariables ysis e €Y sl a3l

. L i o (i
b := o a;;(ho(x") o). z;

Suppose Alpha = 0.01 m=5

o




Linear Regression with Multivariables siie ja J8Y il o gl

by a%g(h,(z(')) 0).20

Supfi’ose Alpha = 0.01 m=5
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